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Where can the field properties be set to check data validity? { ]
A. In the table window.

B. In the query window.

C. In the report window.

D. In the form window.

Computer office systems consist of _____. [ ]
A. computers and typewriters

B. typewriters

C. typewriters and their peripheral equipment

D. computers and their peripheral equipment

Networks use microwave radio to link the computers when _____ . [ ]
A. they are closely together

B. they are far av;ay from each other

C. coaxial cables are used

D. optical fiber is used

Which of the following is the most advanced? [ ]

A. A typewriter.

B. A daisy—wheel printer.

C. An ink-jet printer.

D. A laser printer.

Grosch’s law is no longer suitable because . [ ]

A. the development in computer technology makes microcomputers very cheap

B. people are not willing to pay twice as much in order to improve their machines’
performance

C. his law was put forward a long time ago and is outdated now

D. a mainframe used to run faster than a CPU chip

We can infer that the space—saving result in multimedia applications is obtained __. [ ]

A. together with the enhancement of the quality of the audio and video reproduction

B. at the price of worsening the quality of the sound and video reproduction

C. without any effect on the quality of sound or images

D. at a great cost of money

Which of the following about Computer—Aided Instruction is not true? [ ]

A. It assists the teaching process only.

B. It helps students to see an object on computers which may not be easily seen in a real
environment.

C. It is spreading in lots of ways as well as in various areas.

D. It provides a lot of guided drill for students.
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Which of the following statement may not be true?

A. People break their large—scale computer systems up into smaller subsystems for security

purposes.

B. Personal computers are most likely to be invaded by unauthorized persons.
C. All of the people invading computer systems are trying to spy or sabotage.
D. Some people penetrate into protected databanks in order to prove their technical worth.

Window's second fundamental services is
A. to allow more than one programs to share the CPU

B. to let a program dynamically allocate and free blocks of memory
C. to perform basic I/0 functions

D. to support functions in MS-DOS
The Windows environment consists of
A. the entire Windows API

C. various modules D. applications

B. wide ranges of functions

When a window has an owner,

A. the window will exist even if its owner is destroyed

B. its owner will be destroyed if the window is destroyed

C. the window will exist if its owner exists

D. if its owner is destroyed ,the window is destroyed implicitly
The purpose of a handle is to

A. describe B. identify

- C. assign D. address
Which of the following doesn’t use a handle?

A. Instances B. Applications
C. Resources D. Bitmaps

Which of the following is not true?

A. With DBASE IV, all of the data and other database objects are stored in one file.

B. Access stores data in tables organized by rows and columns.

C. Tables of data in Access store the information we need.

D. All of the data and other database objects would be stored in one file in the same fashion

with Access.
We can infer that ___
A. one of the drawbacks of Access is its lack of speed
B. one of the drawbacks of DBASE is its lack of visibleness
C. DBASE is superior to Access in data processing
D. Access is faster than DBASE when queries are used
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Which of the following is implied but not stated?

A. Pupils can use computers to do their homework.

B. Advanced techniques sometimes bring benefits and harms as well to our society.
C. The distinction between micros and mainframes has become blurred.

D. A great variety of information sources are available on computer networks.

A computer system can be made of .

A. some software B. some CPUs

C. certain buses D. certain hardware

Which of the following is not an input device? .

A. A keyboard B. A light pen

C. A light scanner D. A video display screen
Which of the following devices seems to be the heart of the computer system?
A. The CPU -B. The keyboard

C. The VDT D. The ROM

Which of the following is true?

A. Software never carries a fee for those who like the program.

B. Vaporware is made free by its developer.

C. Freeware and public~domain software is a task—based software.

D. Packaged software may be available at the market from a retailer.

Which software is a master control program of a computer stored in memory?
A. System B. Application

C. Network D. Software

Which is true of the following description about the machine language?

A. The machine language is easy for machines to use.

B. Human beings can use the machine language easily.

C. All data and commands have to be in a binary form.

D. Running a program takes a longer time than writing the program.

Which of the following is not a characteristic of a high—level language?

A. It uses English-like words.

B. A command may stand for a sequence of many machine—language instructions.
C. A keyboard can serve as an input device.

D. Machine-language instructions are no longer required.

Which of the following about a computer virus is not true?

A. It is a piece of software whose purpose is to replicate.

B. It is a program that gains control over its host in various ways.

C. It all contains code which won’t be activated without a trigger mechanism.

D. It sometimes attaches to a file.
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A A laptop B. A desktop

C. A minicomputer D. A supercomputer
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[image: image22.png]68. It therefore makes sense to keep track of inventory at each store on a local computer rather than

centrally at corporate headquarters. After all, most queries and updates will be done locally.






[image: image21.png]67. When developing a security program , companies must think long term. Not only must you choose
a form of protection that can detect and safely eliminate today’s varieties , but you must consider

tomorrow's gullywash as well.







 EMBED Photoshop.Image.9 \s [image: image20.png]66. Hard, or fixed, disks cannot be removed from their disk-drive cabinets, which contain the
electronics to read and write data onto the magnetic disk surfaces. Hard disks can store from

several million bytes to a few hundred million bytes.
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Which of the following is false? [ ]

A. CAD/CAM is the use of computers in the design and manufacture of materials.

B. The CAD information is integrated with CAM procedures through shared computers.

C. In the design stage, the techniques of drafting and computer graghics are combined to
produce models of the object or objects.

D. These models can be manipulated and tested on video display screens until they incorporate
the best attainable balance of features.

CAM engineers usc ______to determine the best overall manufacturing procedures for a plant

as a whole, including the testing and handling of finished products. [ ]

A. computer modeling B. real modeling

C. machine modeling D. automatic modeling

Mechanical drawings done on a computer are ______to manipulate than those done on paper.

. ' . [ 1]

A. more difficult B. easier C. hardier D. tighter

Computers and ___ have promoted the development of numerically controlled machines and
machining centers. { ]
A. database B. light pen

C. microprocessors D. feedback loops

The introduction of and computer combinations have made possible the development of

computer—aided design and computer-aided manufacture( CAD and CAM) technology.

{1

A. database B. light pen C. microprocessors  D. feedback loops
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Computer-Aided Design/Computer ~Aided Manufacture (CAD/CAM)is the use of computers
in the design and manufacture of materials. In the design stage, the techniques of drafting and
computer graghics are combined to’produce models of the object or objects. These models can be -
manipulated and tested on video display screens until they incorporate the best attainable balance of
fe.alures, including ease of production and cost. This CAD information is then integrated with CAM
procedures through shared databases. CAM engineers similarly use computer modeling to determine
the best overall manufacturing procedures for a plant as a whole, including the testing and handling
of finished products.

Today ,most drafting work is done on computers. Mechanical drawings done on a computer are
easier to manipulate than those done on paper. Also, computers make the design and production
process more efficient. For example, if the specifications of a small part of a larger machine are
changed on a computer, the computer can calculate how the change affects the rest of the machine
hefore the machine is actually built.

The advent of the computer has greatly facilitated the use of feedback loops in manufacturing
processes. Computers and feedback loops have promoted the development of numerically controlled
machines( the motions of which are controlled by punched paper or magnetic tapes) and machining
centers( machine tools that can perform several different machining operations).

More recently, the introduction of microprocessors and computer combinations have made
possible the development of computer—aided design and computer — aided manufacture (CAD and
CAM)technology. When using these systems a designer draws a part and indicates its dimensions
with the aid of a special light pen on a television like cathode-ray tube computer display screen.
After the sketch has been completed to the satisfaction of the designer, the computer automatically

generates a magnetic or punched tape that directs a machining center in machining the part.







 EMBED Photoshop.Image.9 \s [image: image16.png]58. C is a compiled language that contains a small set of built-in functions that arc . [

A. machine independent B. machine dependent
C. programmer independent D. programmer dependent

59. C programs are composed of one or more function defined by the _____. [
A. company B. user C. programmer D. customer

60. C++is an _____ language. [
A. object-oriented B. result-oriented

C. program-oriented ’ D. structure—oriented
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A widely used programming language C was developed by Dennis Ritchie at Bell Laboratories
in 1972; it was so named because its immediate predecessor was the B programming language.
Although C is considercd by many to be more a machine—independent assembly language than a
high-level language, its close association with the UNIX operating system, its enormous
popularity , and its standardization by the American National Standards Institute ( ANSI) have
made it perhaps the closest thing to a standard programming language in the microcomputer/
workstation marketplace. C is a compiled language that contains a small set of built-in functions
that are machine dependent. The rest of the C functions are machine independent and are
contained in libraries that can be accessed from C programs. C programs arc composed of one or
more function defined by the programmer; thus C is a structured programming language.

C++,in computer science, an object-oriented version of the C programming language,
developed by Bjame Stroustrup in the early 1980s at Bell Laboratories and adopted by a number

of vendors, including Apple Computer, Sun Microsystems, Borland International, and Microsoft

Corporation.

56. When did the language C be developed? [ ]
A. In 1970 B. In 1971 C. In 1972 D. In 1973

57. Which of the following is not true about the language C? ( ]

A. Tts close association with the UNIX operating system.

B. Its enormous popularity.

C. Its standardization have made it perhaps the closest thing to a standard programming
language in the microcomputer/workstation marketplace.

D. C is considered by many to be more a high—level language than a machine- independent

assembly language.
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B. A distributed system

C. the Report Wizards

D. Multimedia

E. E-~mail

F. instructions

G. assembly-language- programming
H. viruses

L. a dynaset
J. handles
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A program is a sequence of that tells the hardware of a computer what operations to

perform on data.

One method programmers devised to shorten and simplify the process is called

In addition to its propagation mission, many contain code whose purpose is to cause
damage.

Windows are only one of a variety of items that are identified by in the Windows
environment.

If you have defined relationships between tables,a query can récognize the relationships and
combine data from multiple tables in the query’s result,which is called
For an easy approach to creating a report, use that come with Access.

has become a key part of the communications networks of most modern offices.

is a collection of independent computers that appear to the users of the system as a
single computer.

is the presentation of information using the combination of text, sound , pictures,
animation, and video.

Obtaining , formatting, and editing require special computer components and programs.
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A CPU can be a microprocessor. ( )
Light pens are pens without much weight. { ]
Executable file infectors misguide the header information ,and executed hefore the host file.

(1

If virus scanners can’t recognize a virus code pattemn, they will still be able to detect the
virus., ' [ ]
Access database cannot contain many tables but only one table and other objects. [ ]
The only purpose of parallel systems is to achieve maximum speedup on a single problem.

()

Multimedia computers need extra memory to draw complex images. { ]
The partition table virus attack the hard disk partition table by moving it to a different sector,
but can’t replace it with its own infectious code. [ 1

An application can create a window whose purpose is only to do a specific message—processing
job without appearing on the screen. [ ]
A collection of computers that look and act like a classical single- processor time-sharing

system can be considered as a distributed system. { ]
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